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Instructions :

328000

i)

iy All questions are compulsory.
Question Nos. 1 to 4 are Multiple
Choice Type. Question Nos. S to

9 are Very Short Answer Type to
be answered in a maximum of

ii)

25 words each. Question Nos. 10
to 14 are Short Answer Type to
be answered in a maximum of
50 words each and Question
Nos. 15 to 18 are Long Answer
Type which are to be answered in

a maximum of _100 words each.

Marks allotted to the questions
are mentioned against them.
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1. Choose and write the correct answe

4
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the following questions in your answer-

boo

1)
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k:
Blood consists of
a) R.B.C. b) wW.B.C. "

c) Platelets d) all of these. 1

Malaria is spread by

a) Rats b) Flies

c) Mosquitoes d} Cockroach. 1
The part of Nervous system is - °

a) Central Nervous system

b) Peripheral Nervous system

c) Autonomic Nervous system

d) All of these. ' i
What is the characteristic of family
necessities ?

a) Unlimited

b)  Arising again and again

c) Competitive

d) All of these, ' 1
Jam is made from |
a) fruitpulp  b) fruit juice

c) fruit Pieces d)  rotten fruits. 1
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2. i)

iii)
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6
Ability of body to fight against
discase is called
a) disinfection
b) immunity
¢) incubation period

d) none of these.
Diet of newborn babies should be

a) fruit
b) distilled water

c) glucose
d) mother's breast feed. 1

Ductless gland is

a) Pituitary gland

b) Salivary gland |

¢) Stomach

d) ' Heart. : | 1
Disasters can be

a) incidental b) arriving slowly
c) Dbiological d) all of these. 1
Vaccination given at the right time
a) decreases immunity |
b) decreases rate of child mortality
¢) insecures child's life '
d) none of these. | 1
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iii)

iv)

v)

8

is required for good

a) Regular exercise |
b) Nutritious and balanced diet

c) Cleanliness of body

d) All of these. 1
Bone present in the ear is
a) Maleus |
b) Perilymph
c) Ampula
d) none of these.
Slums are harmful for
a) Public health
b) Public moral
c) Progressive civilization
- d) all of these. 1

Duty of the head of the family is

a) to cook food )

b) to give money

c) to teach children

d) to take care of all family
members. _ 1

Different problems are created bv
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1ii)

328000

o _hours
Newborn baby sleepS "
a) 10 - 12 hours
b) 14 - 16 hours
c) 23 hours
d) 18 - 20 hours. 1
Unit of society is
a) School b) Family
¢) Community d) House. 1

Measure to stop child marriage is
a) promoting education

b) aggressive campaign against it
¢) strict law
d) all of these.

Family welfare can be done by
a) giving balanced and nutritious
diet htip://www.upboardonline.com

better rearing and nutrition for
children

b)

medical facilities aﬁd education
d) all of these. 1

.......... 1s worsely affected by divorce.
a) Husband b) Wife

c) Children d) None of them. 1
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( Very Short Answer Type Questions )

5. %) $gl Ml T gt g AT 2 1
) MBR & HEvTE T FH-FA G E 2 1

5. a Why should garbage truck be
covered ? ' 1

b) Which are the main elements of

food ? 1
6. ) o=@l 9 Hehmeh I & A fwf@w | 1
w) freeem e ? 1

6. a) Name any four infectious diseases.
_ 1
b) What is dehydration ? 1
7. ) THRIA Y AT TGS E 2 1.

@ HHpIRH R AT E 2 1
7. a) What is anaemia ? _ 1
b) Why is mother's milk beneficial for

infant ? 1

8. ®) Wl Al @ 71 RNA € 2 1
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g7 - 1
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8. 4
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what are the |

P{-}[’SDﬂality?
¢ important in

Why is adjustmen
1

married life ?

b)

ETBWI ? 1
9. &) ﬂ%?f 311 g % :
' 1
9. a) Whatis meant by dowry ? 1
b) What is meant by drought ? 1
( oY ST 99 )
( Short Answer Type Questions )
10, &) IR A e H A E ? 2
@ wAdRRmARTSIRE 2 2
10. a) What are the functions of skin in
body ? 2
b} What is the difference between
artery and vein ? 2
11. %) @ fmn 58 wed § 2 wmer s
®EE 2 - )
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11. a)

b)

12. &)

Q)

12. a)

b)

13. &)

Q)

13. a)

b)

328000

13 328(WQ)

What is health cducation ? What s
its objective ? 2

What are the problems that arise

due to the presence of slums ? 2

A fasar & Swor ge 7 fefat |

: 2
T GRER # N ST & 7 WEd
Y fefEg | 2
Describe briefly- th.e causes of social
inequality. _ 2
Describe briefly the problems of a
singl-; family. 2
qfEar fac @ d%adr & & gEE
g | | 2
¥ gNeR & o fef@e | 2
Give any {wo suggestions for

successful family planning. 2

Give the merits of a joint family. 2
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be the main

14. a) What should
supplementary food of child ? 2
b) Write about the schemes of child
welfare in India. 2
(<t I W )
 { Long Answer Type Questions )
15. g fages & ROl 1 qUE I |
o .
Har
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J | : 5
15. Il}t{Strate the results of social
disintegration. 5
OR
What -
_.ﬂil:lstltf are the reasons for breaking of a
] amily ? Describe clearly. 5
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16.

17.

17.
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What are the main reasons for high

infant mortality rate ? S
OR

What are the vaccinations given to an

infant ? S
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What are the common causes of
environmental pollution ? Wnte the

methods. for its control. 2 L 2

| OR

Write the importance of vegetables and
fruits in a diet. 2 = + 2 L
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16
18. ﬁam%mﬁﬁma?aﬁ%wfaﬁa@ﬂm
hEel FT il s SHET | . 2+3
Far

Tl T AmifEa fom gRT @Y | 2+ 3
18. Write the names of ass;::-ciative
respiratory organs and draw a labelled
digrém of Lungs. | 2+3
OR |
Explain the structure of Eye with the
help of a labelled dlagram - 2+3
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